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QUESTION 1

You are deploying an external storage system and its connection to a VSP G1000. The VSP G1000 has four external
pools. You must ensure balanced utilization of the external storage system parity groups within each pool. 

What would you do to satisfy this requirement? 

A. Use only one external volume per external parity group with the default UVM queue depth. 

B. Slice each external parity group to provide a pool volume for each pool. 

C. Ensure that volumes from a parity group in an external system are exclusively associated with the same external
parity group in the storage system connected to the host. 

D. Provide eight paths for each volume presented by the external storage system to the storage system connected to
the host. 

Correct Answer: C 

 

QUESTION 2

A customer is replicating VSP G1000 production data using HUR. The customer experiences a network outage. During
the outage, the customer reported an increase in response times. 

Which two actions would minimize this problem during future network outages? (Choose two.) 

A. Leave the HUR SOM in the default setting. 

B. Set the SOM that suspends pairs during outages. 

C. Add volumes in the journal. 

D. Increase the size of the Journal Pool capacity by adding additional parity groups. 

Correct Answer: BD 

 

QUESTION 3

A customer has a VSP G800 storage system with an HDT pool with internal SAS drives and a virtualized third-party
array using SATA RAID 6. The virtualized array is connected to the VSP G800 using four 8 Gbps FC paths. The
customer reports performance problems on an OLTP application deployed on a virtualized server using the HDT pool. 

What are two reasons for this problem? (Choose two.) 

A. The workload includes significant random writes to SATA over RAID 6. 

B. The tier relocation is not assisting the OLTP application. 

C. The size of Tier 1 is not sufficient to accumulate all of the hot pages. 

D. The speed of the FC links is insufficient. 
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Correct Answer: AD 

 

QUESTION 4

Which three statements are true regarding a VSP G400 configuration for a Microsoft Exchange Server environment?
(Choose three.) 

A. RAID 1+0 is a recommended RAID level for the database volumes. 

B. RAID 6 is a recommended RAID level for the database volumes. 

C. HDP is a recommended configuration for database volumes. 

D. Parity group concatenation is recommended. 

E. Microsoft JetStress testing should be used to validate the required performance. 

Correct Answer: BDE 

 

QUESTION 5

Which three functions are performed by a VSP G1000 Virtual Storage Director (VSD)? (Choose three.) 

A. It executes host I/O requests. 

B. It calculates parity. 

C. It manages cache segment usage. 

D. It moves data to/from cache. 

E. It executes software such as HDP or copy products. 

Correct Answer: ACD 
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